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1) TRADE THEORY

Question No. 1/ Question ID 335 Marks: 2.00
What is the peak voltage of 220V rms AC voltage?
220V rms AC diees &I Ui diecs 1 7
(A) O 310.02V
310.02 V
(B) O 312.25V
312.25V
(C) O 311.12V (Correct Alternative) (Chosen Option)
311.12 V (Correct Alternative) (Chosen Option)

(D) O 315.20 V
315.20 V

Question No. 2 / Question ID 136 Marks: 2.00
What is the name of the contact marked as ‘X’ as shown in the figure?

for 7 famy SrgaR X' ¥ fafed Tues &1 9 o1 82
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(A) O Over load relay contact (Chosen Option)
3ffaR @rs f¥a Tudh (Chosen Option)

(B) O Delta contact
Seel YU

(C) O Star contact
WR dUd

(D) O Auxiliary contact (Correct Alternative)
LIHEED U (Correct Alternative)

Question No. 3/ Question ID 385 Marks: 2.00




Which type of load is protected by ‘G’ series MCB?
g YR &1 A’ G ' Aot MCB GRT TR 82
(A) O General lighting systems (Chosen Option)
HTHTT YhTRT HdRYT (Chosen Option)
(B) O Ovens
3l

(C) O Geysers
oR

(D) O Air conditioners (Correct Alternative)
TR HOIR (Correct Alternative)

Question No. 4 / Question ID 81

Which is the most effective method of balancing armature?
TR &1 Tferd B BT JaY YHTA! a1 HIF I g2
(A) O Plugged with lead weight balancing (Chosen Option)

NI YR e o 1Y @i {1 71 (Chosen Option)
(B) O Attached with counter balancing

PHIIeR Ager & 1Y Ty
(C) O Static balancing

|
(D) © Dynamic balancing (Correct Alternative)
'\‘i'g]fl:r (Correct Alternative)

Marks: 2.00

Question No. 5/ Question ID 256
Which condition is to be satisfied before parallel operation of an alternators?
3eeRAeR & FHIR TaTe ¥ Ugd & iF It Td g3t g1 anfgu?
(A) O Stator impedance must be same
TR e M gHT a1fed
(B) O Rotor impedance must be same (Chosen Option)
3Iex UfdaTeT §HM 811 91feT (Chosen Option)
(C) O Phase sequence must be same (Correct Alternative)
ol 3JshH T g1 918U (Correct Alternative)
(D) O Rating must be same

T gum B =T

Marks: 2.00

Question No. 6 / Question ID 453
What is the part name of the DC drive marked as 'X" shown in the figure?

fom & fe@me U X' & =0 § RIfgd DC $18d & YT &1 A8 &1 87

Marks: 2.00

ELHTINER

ELHTINER

(A) O Terminal cover (Chosen Option)
hdR (Chosen Option)
(B) O keypad part
YT




(C) O Main drive assembly (Correct Alternative)
H©J glgd S qal (Correct Alternative)
(D) O Gland plate
s we

Question No. 7 / Question ID 425

What is the name of the characteristic curve in D.C drive as shown in the figure?

for 7 SRITT SFUR D.C $12d # Sifiweifre asb &1 A1 F1 52
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75— )
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(A) O Speed Vs torque characteristic (Correct Alternative)

TIfel §9TH SATYUl fIRWaT (Correct Alternative)

(B) O Speed Vs armature current characteristic (Chosen Option)

T §9TH 3THER YRT fIRIWdT (Chosen Option)
(C) O Torque Vs field current characteristic
AUl S &7 YRT fa=iwar

(D) O Field current Vs armature current characteristic

IS TaHM S 3THIR Jad A=

Marks: 2.00

Question No. 8 / Question ID 307

What is the formula to calculate the resonance frequency in an oscillator circuit?

TH QA Fidhe B SIAG SGRT BT UM B BT I &7 87

Marks: 2.00




=
®

F, =
21.C
F, = L
21.C
B0 E 1 (Ch Option)
= osen Option
" LCW2r
1
= (Chosen Option)
" LCW2r
€)O . 1
=——| (Correct Alternative)
" 27.LC
1
F. =— | (Correct Alternative)
" 274LC
(D)O 1
=
21.C
1
2
2a.C
Question No. 9 / Question ID 309 Marks: 2.00

Which filter circuit is capable of removing voltage spikes in the rectifier circuit?
DI I ftheer Tfthe AFewrR Tfhe H dices WZe &I 8o H e 872
(A) O Capacitor input filter
TYTRA FYC fthec?
(B) O Series inductor filter (Chosen Option)
ot IRPd fheex (Chosen Option)
(C) O RCfilter
RAT fthee?
(D) O LC filter (Correct Alternative)
LC fiheer (Correct Alternative)

Question No. 10 / Question ID 449 Marks: 2.00
Which is the application for the single quadrant loads, operating in the first quadrant of a drive?

$15d & U Il & Tanferd uewd aqufer 4R & forg o1 1 ey 87
(A) O Elevators (Chosen Option)
(Chosen Option)

(B) O Lifts

feroe
(C) O Centrifugal pumps (Correct Alternative)

3P T (Correct Alternative)
(D) O Hoists

gise

Question No. 11 / Question ID 415 Marks: 2.00
What is the name of the contactor marked as 'X' in the star delta starter as shown in the figure?

fort & faame SR wR el Wik § 'x' ¥ fafgd Judhabdl &1 911 &1 82
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(A) O Main contactor

qeq
(B) O Delta contactor

Secl Yudhadl
(C) O Star contactor (Correct Alternative) (Chosen Option)
TR AusHdl (Correct Alternative) (Chosen Option)
(D) O Timer
[SERN

Question No. 12 / Question ID 502 Marks: 2.00
Which type of line insulator is used for terminating on corner post?
AR I R P & T & O {5 UPR & A8 Igalex BT SUANT a1 STl 872
(A) O Suspension insulator (Chosen Option)
feie $gaIeR (Chosen Option)
(B) O Pininsulator
Ay

(C) O Shackle insulator (Correct Alternative)
(Correct Alternative)
(D) © Strain insulator

A

Question No. 13 / Question ID 58 Marks: 2.00
What is the formula for the efficiency of a D.C generator?

D.C SFIRCX B1 G&fdT BT Bigal 1 67




A) O Input
Output
Input
Output
B) O QOutput
Input —Losses

Output
Input —Losses

(C) O Input+losses
Input

(Chosen Option)

(Chosen Option)

Input+_.osses

Input
(D) O Output

Qutput + Losses

(Correct Alternative)

Output
Qutput + Losses

(Correct Alternative)

Question No. 14 / Question ID 203

Marks: 2.00

Which is the speed of the rotating magnetic field of a 3 phase squirrel cage induction motor?

3 TRUT PR ol S8aRM Aex & YUl Jab1g & &1 i 1 82
(A) O Rotor speed
Rex T

(B) O Actual speed
CIESIECRIIT]
(C) O Synchronous speed (Correct Alternative) (Chosen Option)
Tt (Correct Alternative) (Chosen Option)
(D) O Slip speed
ESLRIG]

Question No. 15/ Question ID 231
Which single phase motor has squirrel cage rotor?

o T d TRUT Hiex # f&pd & eR BT 87
(A) O Repulsion motor

(B) O Universal motor (Chosen Option)
e (Chosen Option)
(C) O Compensated repulsion motor
3Tl UfaH Yo Hiex
(D) O Split phase motor (Correct Alternative)
e (Correct Alternative)

Marks: 2.00

Question No. 16 / Question ID 419

Marks: 2.00




Which device detects a physical quantity?
DI T IUBRT Hifdie HIAT BT UdT T 82
(A) O Motor

(B) O Circuit breaker (Chosen Option)
gfhe S (Chosen Option)
(C) O Sensors (Correct Alternative)
TR (Correct Alternative)
(D) O Starter

Question No. 17 / Question ID 244 Marks: 2.00
What is the name of the part marked as 'x' of hysteresis motor as shown in the figure?

fort & famame 70 SR fRe R Aier & 'x' I fifgd YT &1 A1 a1 82

= 4 B

(A) O Stator winding

WX gHIGER
(B) O Hard steel rotor

HER Tl AR
(C) © Laminated iron stator

3{TRA LR
(D) O Shadlng coil (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 75 Marks: 2.00
Why the starters are required to start the D.C motors?
D.C ey &1 9T H & fo1E WICH B! Saadhdl ol glal 872
(A) O Control the armature reaction
3R ufdfshan o1 fAafd &3
(B) O Reduce the armature current (Correct Alternative)
3THTR B B HH B (Correct Alternative)
(C) O Increase the armature current (Chosen Option)
TR e FgI¢ (Chosen Option)

(D) O Regulate the field voltage
&3 dices B fafAaiig s

Question No. 19 / Question ID 94 Marks: 2.00
What is the purpose of tapes in winding?
RS T U HT I 1 57
A) O Bind the coils
Dl Bl diY

(B) O Insulate slots




(C) O Insulate exposed conductors (Chosen Option)
Q@f HedeRl Bl $r~§1¢1¢ Gy (Chosen Option)

D) O Wrap the conductor (Correct Alternative)
HEaeY due (Correct Alternative)

Question No. 20 / Question ID 28 Marks: 2.00
What is the purpose of using resistance wire used in the commutator in D.C generator as shown in the
figure?

fort & feame SR St Tkex & Frgeer H Tgad URIY IR &7 SUINT 3 61 3= 1 672

AREN AW

g g
(A) O For smooth reversal of current direction (Correct Alternative) (Chosen Option)

gau fe=n & L CIES IACHI & ﬁl‘E (Correct Alternative) (Chosen Option)
(B) O To maintain constant stage

RR ST 1Y T o fog
(C) O To reduce the voltage drop

e MY DI HH B & ol
(D) O To increase the statically induced emf

Qi U Y URT emf B! g & o

Question No. 21 / Question ID 287 Marks: 2.00
What is the name of instrument used to measure the insulation resistance of an alternator?

TR P IR UfeRIY BT AT & fIE IUANT fhT S aTel SUHRT &7 19 &7 82
(A) O Multimeter (Chosen Option)
HedHtex (Chosen Option)
(B) O Shunt type ohmmeter
e YhR
(C) O Megger (Correct Alternative)
AR (Correct Alternative)
(D) O Series type ohmmeter

YA UHR AHICR

Question No. 22 / Question ID 174 Marks: 2.00
Which type of testing of winding is illustrated as shown in the figure?

o o o A feaman man 7, a1 1 frd uehR o1 udierun emifar man g2

k=il — HE

(A) O Voltage drop test
Jiecsl ST URT&UT

(B) O Resistance test (Correct Alternative) (Chosen Option)
ufaRry gdteor (Correct Alternative) (Chosen Option)




(C) O Short circuit test

RUCKSIE T
(D) O Polarity test

¢fadl o

Question No. 23 / Question ID 104 Marks: 2.00
Why shunt field coil is connected in series with holding coil in D.C three point starter?
i Bics disd B D.C 3l Uige Wk # gIfcsT disd & 1Y adl H i SiisT Sl 872
(A) O Protect the shunt field from over current
[C HIeE P Hc I F41U
(B) O Protect the motor in case of open in shunt field (Correct Alternative)
Tie Wics ga a1 @t AT & A ot GR&ra T (Correct Alternative)
(C) O Decrease the holding coil current
BIfcET Plgd dHRc Uy
(D) O Increase the hold|ng coil current (Chosen Option)

BICET Pigd dc §¢TU (Chosen Option)

Question No. 24 / Question ID 374 Marks: 2.00
What is the reason for providing two separate Earthing in the panel board?
OTdt aTs T G 31el1-3fT IR UaM PR &1 T HRUT 572
(A) O Reduce the voltage drop in panel board
U9 a1S | dleed 31U Bl HH B
(B) O Panel board is made in metal box (Chosen Option)
PERECIE] H@éﬁaa@rﬁaﬂmw% Chosen Option)
(C) O Control the stray field in the panel
O & ¥ &7 &I FaEd &<
(D) O Ensure one earthing in case of other failure (Correct Alternative)

3= fawarar & Ava ¥ v Siffir AT B9 (Correct Alternative)

Question No. 25/ Question ID 113 Marks: 2.00
What is the purpose of no volt coil in 3 point starter?
3 Ulge TIeR # Al dice BIsd Bl I HT 872
(A) O To disconnect the motor if power fails (Correct Alternative) (Chosen Option)
fooTell @ 819 W Hiex &1 f&¥wae #A & fAIT (Correct Alternative) (Chosen Option)
(B) O To increase the back emf
9% emf EFG!T'?I & fou
(C) O Toincrease the field current
Tlcs Hic g & o
(D) O To improve the torque

AUl B GURA & forg

Question No. 26 / Question ID 500 Marks: 2.00
What is the type of over head line joint as show in the figure?
for 7 SITT SR 3MaRES A=A SIS HT UHR T 82




s — ) = — Dy

& i & E
(A) O Straight sleeve joint
Y SR T SIS
(B) O Straight joint through connectors
Fded b HIEH I Y S

(C) O Twisted joint (Chosen Option)
Hel g3l EIS (Chosen Option)
(D) O Battery Charging Circuit (Correct Alternative)
i1 |fdhe (Correct Alternative)

Question No. 27 / Question ID 346 Marks: 2.00
Why the collector region is physically made larger than emitter region in a transistor?
TH cifoReR # dadex 8 Hifde U T Il & J 91 I §91a1 STl 872
(A) O As inputis given to collector

fth STYe BAdeR B! a1 o1l 3
(B) O As base collector region is reverse biased
9 99 FHarder & Rawd a1%s gial o
(C) O It has to dissipate more heat (Correct Alternative) (Chosen Option)
31t T BT UYR BT ST § (Correct Alternative) (Chosen Option)
(D) O As output is taken from collector
<fth 3M3eYe HageR I forar S 8

Question No. 28 / Question ID 145 Marks: 2.00
What is the name the starter symbol as shown in the figure?

o fob foa o fezaman T 8, Wik Udie &1 A9 o1 872

.y .y

(A) O Semi automatic star/delta starter
31¢f TTTferd R / Seel Witk

(B) O Auto transformer starter (Correct Alternative) (Chosen Option)
el g'l'\fl'q?lﬁ?' W (Correct Alternative) (Chosen Option)

(C) O Automatic star/delta starter
AT ©R / Seel WK

(D) O D.O.L starter
D.O.L WTeR

Question No. 29 / Question ID 196 Marks: 2.00

Calculate the phase displacement in terms of slots for a 3 phase, 36 slots, 12 coils, 4 pole stator winding?

3 ®dl, 36 TilE, 12 HI3d, 4 Uid W RS & folu Wic & e & wdr fa=Iu= P T B2




(€) O
(D) O

3 slots
3 slots

4 slots
4 slots

8 slots (Chosen Option)
8 slots (Chosen Option)

6 slots (Correct Alternative)
6 slots (Correct Alternative)

Question No. 30 / Question ID 37
What is the name of the compound generator, if the shunt field is connected in parallel with armature?

$HUTS SFRER BT AT &7 8, T T Bics MR & 1Y AR J ST 531 872

(A) O
(B) O
(C)O

(D) O

Separately excited generator
3T Y IATRd SR

Shunt generator

Tfe SHYCR

Long shunt compound generator (Chosen Option)

AT ] HUYNES S-ReR (Chosen Option)

Short shunt compound generator (Correct Alternative)
3¢ Xic HUNES SRR (Correct Alternative)

Marks: 2.00

Question No. 31 / Question ID 458
What is the minimum permissible single phase working voltage, if the declared voltage is 240V as per

ISI?

Marks: 2.00

Ife ATETHSE P IHR NV dicest 240V & 9 rdH SIHd Tebel TRUI RIS dedsl &1 82

(A) O
(B) O
(€) O
(D) O

216 V (Chosen Option)
216 V (Chosen Option)

233V
233V

211V
211V

228 V (Correct Alternative)
228 V (Correct Alternative)

Question No. 32 / Question ID 293
Which material is used for the damper winding?

SR arEfE & fog forg el &1 IudiT fosar wirdn 82

(A) O
(B) O
(€)O

(D) O

Cast iron bar

PIRC RRT dR

Copper bar (Correct Alternative)
didl R (Correct Alternative)
Silicon steel bar (Chosen Option)
il Wid aR (Chosen Option)

Stainless steel bar

WY €ie IR

Marks: 2.00

Question No. 33 / Question ID 152

How the voItage is recelved in the rotor of induction motor?

S Hiex & Jex H dieesl S U gidT 872

(A) O

Direct connection from stator
T e ey

Marks: 2.00




(B) O By the transformer action of stator and rotor (Correct Alternative) (Chosen Option)
TR 3R AR &1 m’q?lﬂ? P gRI (Correct Alternative) (Chosen Option)

(C) O Due to back emf produced in stator
TR H IdTed d% ST & HRU]

(D) O Direct connection to rotor from supply

3TYfe T Ve BT WeT &y

Question No. 34 / Question ID 311 Marks: 2.00
Which logic gate refers the truth table as shown below?

2 <=IfT SR & 1 diford e T a1 & Wefid Hdl 82

A B Y =AB A B ¥ =AB
0 0 0 0 0 0
1 1] 0 1 4] 0
0 1 0 0 1 0
1 1 1 - 1 1 1 -
3 3
(A) O AND gate (Correct Alternative)
AND 7I€ (Correct Alternative)
(B) O OR gate
ORI
(C) O NOR gate (Chosen Option)
NOR 7€ (Chosen Option)
(D) O NOT gate
NOT 7I¢
Question No. 35/ Question ID 478 Marks: 2.00

Which electronic circuit is used in a automatic voltage stabilizer to produce the constant output voltage?
fFAROR 3T3CYE dleedl BT IMTG B & [0 Udh WTIerd diecs] W dagoR H [y Saaci - didhe ol
SUIRT faT STl 57

(A) O Amplifier circuit

(B) O Oscillator circuit

(C) O Zener diode and transistor circuit (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(D) O Rectifier circuit
AfFRBIRR

Hide

Question No. 36 / Question ID 170 Marks: 2.00
Which type of handle design of rotary switch is illustrated as shown in the figure?

fort & feae SR et o &1 oy R &1 §5d fowire axiian T g2




(A) O Key operation

CIRSEIRE]
(B) O Lever

RisINCY
(C) O Knob

QXdl
(D) O Coin slot (Correct Alternative) (Chosen Option)

P i (Correct Alternative) (Chosen Option)

ELZAIT

Question No. 37 / Question ID 39

Which method is used to improve the insulation resistance in DC generator?
SRR oReR # SYATH TRy & 98k a9 & forg T faftr o1 IuanT forar Sirar 82
(A) O Running the machine with over load

DI 3fe S &b Y T
(B) O Keeping the machine in idle (Chosen Option)

CARRIS: R ERCRl (Chosen Option)
(C) O Blowing hot air into the machine (Correct Alternative)

H e &dl STd-T (Correct Alternative)
(D) O Replacing the brushes frequently

S I IR-SR Fae

Marks: 2.00

Question No. 38 / Question ID 252
What is the supply frequency of an alternator having 6 poles runs at 1000 rpm?
1000 3RUTH TR 6 Yl 1A T 3HeeIex B MYfd AT o1 82
(A) O 25Hz
25 Hz
(B) O 40Hz
40 Hz
(C) O 50 Hz (Correct Alternative)
50 Hz (Correct Alternative)

(D) O 60 Hz (Chosen Option)
60 Hz (Chosen Option)

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1 / Question ID 521
What is the formula for a™x a"?

a ™ x a" & e wrar 1 82
(A) O n.am
n.am

Marks: 2.00




[ (B)O am™" (Chosen Option)

a™™" (Chosen Option)

(D) O a™*n (Correct Alternative)
a™*" (Correct Alternative)

Question No. 2 / Question ID 518 Marks: 2.00
What is the purpose of a lubricant?
WED Bl 5L F187
(A) O To increase the pressure
G199 o oy
(B) O To increase friction
YU Y d¢H & forg
(C) O To reduce pressure
GaTd Dl HH HRA & [T
(D) O To reduce friction (Correct Alternative) (Chosen Option)
0T B FH FHA S ﬁ‘l’l'{ (Correct Alternative) (Chosen Option)

Question No. 3/ Question ID 526 Marks: 2.00
V\ihich type of stress?
& I-1 Ufaed 872

A
T |
| D
%
A
— T |
0| -
%

(A) O Compressive stress

(B) O Torsional stress




(C) O Shear stress (Correct Alternative) (Chosen Option)
CORRIGEL (Correct Alternative) (Chosen Option)
(D) O Tensile stress
GEICKIGEN|

Question No. 4 /| Question ID 527
What is the unit of strain?

farepfer 1 gepTS T 82

(A) O Kglem?
Kg/cm2

(B) O Newton/metre?
Newton/metre?

(C) O Metre
Metre

(D) O No unit (Correct Alternative) (Chosen Option)
No unit (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 5/ Question ID 528
Which symbol is used to express change in length?
TS § gRad &1 fd dobd & GRITAT Sffal &7
(A) O dI (Correct Alternative) (Chosen Option)
dl (Correct Alternative) (Chosen Option)

(B) O
(C)O
(D) O

r— o® o ——

Marks: 2.00

Question No. 6 / Question ID 529
What is the expanded form of S.P?
g, (S.P) %1 fawgd =4 F1 82
(A) O Special Price

Special Price
(B) O Selected Price

Selected Price
(C) O Super Price

Super Price

(D) O Selling Price (Correct Alternative) (Chosen Option)
Selling Price (Correct Alternative) (Chosen Option)

Marks: 2.00

3) ENGINEERING DRAWING

Question No. 1/ Question ID 548
Choose the symbol for main fuse board without switches (P).

ot R (P) & T vyl oS & forg g 4|

Marks: 2.00




(A) O

(B) O

(Correct Alternative)

(Correct Alternative)

(€)O

(D) O

(Chosen Option)

(Chosen Option)




Question No. 2 / Question ID 554
Which is ball peen hammer?

Sid YH R p A1 8?2
(A) O

(B) O

(C) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Marks: 2.00




(D) O

Question No. 3 / Question ID 543
Which is photo diode?
I SRS B AT 82

(A) O

(Co”rréct Alfernative)

(Correct Alternative)

Marks: 2.00




(B) O

(C)O .
(D)O .

(Chosen O’p’tia’n)

3
b Sl

 \

(Chosen Option)

Question No. 4 / Question ID 555 Marks: 2.00
Which is nose pliers?

TS @R DI I1 82

(A)O .




(B) O

(€)O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(D) O

Question No. 5/ Question ID 539 Marks: 2.00
Identify the wave form.

99 BTH &I Uga




(A) O Triangle wave
[EEANICE]

(B) O Sine wave (Correct Alternative)
BIER] aq (Correct Alternative)

(C) O Square wave
W 49

(D) O Saw-tooth wave (Chosen Option)
FI\TI-QQI dd (Chosen Option)

Question No. 6 / Question ID 547 Marks: 2.00
Which is protective device?
RETEHD SUBRU DI T §?
(A) O Magnet
e

(B) O Resistor
MR
(C) O Fuse (Correct Alternative) (Chosen Option)
ol (Correct Alternative) (Chosen Option)
(D) O Capacitor
HURTER

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 713 Marks: 2.00
While applying for a job, how to start an email to a company?
B & Y 3MTde HRd THT fohlt U Dl S0 HY L= Be?
(A) O Write a short story about hobbies
& §R T U DIt By fera-T anfgy
(B) O Attach favorite photos
qRi¢IaT Wie] Jay & a1y




(C) O Begin with a clear subject line and a polite greeting (Correct Alternative) (Chosen Option)

U Wy fawy ufe ok famw sifiraret & |1y Y[&3Td A1 91T (Correct Alternative)
(Chosen Option)

(D) O Start with a joke

U Jedpal Y I3 DAl AT
Question No. 2 / Question ID 748 Marks: 2.00
A person always trying out new ways to reuse the waste materials called as
Teh oot SUfRIY UGTf ) G IUANT A b oY AR 77 i SGHIAIEAI e o PgT ol e

(A) O Idea Person (Correct Alternative) (Chosen Option)
Gﬂ's;'%‘ﬂT i (Correct Alternative) (Chosen Option)
(B) O Peacekeeper
e IR (FifcRe®)
(C) © Doer
SR (&)
(D) O Planner
@R (ASHTehdl)

Question No. 3 / Question ID 670 Marks: 2.00

A Beautyparlor staff follows environment friendly actions by means of

To GAUR TH & Hed | waiarul 3 TiAfafeal o1 UTe &l &

(A) O using plastic gloves.
WIREH o G &b JUANT

(B) O reusing the consumable items.
JUUIS(H--gHad) I3 & GH: SUINT

(C) O using non plastic materials, disposing wastes in an environment friendly way. (Correct
Alternative)

R wfeesd ARl &1 IUANT, yafaRur & @ d aile | ®a¥ & fUe (Correct Alternative)
(D) O using plastic cups. (Chosen Option)
$U &b STANT (Chosen Option)

Question No. 4 / Question ID 716 Marks: 2.00
How can Instagram, linkedlIn, and YouTube help you in finding a job?
g, fiides SR Jegd 3HUS! AIdhs! go- H oY Hag R Ihd 872
(A) O lts available in mobile
Ig Aiesd IR IUds §
(B) O Connecting you with company, professionals faster (Correct Alternative) (Chosen Option)
3TYH HUT, MBI A il A S BT © (Correct Alternative) (Chosen Option)
(C) O lts economical
g fpmrdt B
(D) O As informed by others
o o5 o= ST GIRT S TR §

Question No. 5/ Question ID 564 Marks: 2.00
Magnificent, sharp, lengthy, bright, - are examples of

Afiithdre, 7MY, R, S1ge, - & AUl §
(A) O nouns
134
(B) O describing words (Correct Alternative) (Chosen Option)
j a:{%r (Correct Alternative) (Chosen Option)




(C) O action words
TRME 389
(D) O pronouns

Question No. 6 / Question ID 739 Marks: 2.00
Making a good choice means
TH 331 fadwed g &1 i §
(A) O Looking closely, then deciding (Correct Alternative) (Chosen Option)
3 aET-IT, b= fAofa @@= (Correct Alternative) (Chosen Option)

(B) O Not looking

(C) O Talking a lot
d ST DAl
(D) © Deciding quickly
RiEGIE

Question No. 7 / Question ID 663 Marks: 2.00
What does having a green mindset mean?
T HIE ST T7 &1 R HAd 672
(A) O Ignoring pollution and waste management
TGO T4 S(UFRTS TeeH 1 SR HRAl
(B) O Caring for the environment and using resources wisely (Correct Alternative) (Chosen
Option)

TRl B SEUTA BT 3R FATYAT BT AT A STFRT HAT (Correct Alternative)

(Chosen Option)
(C) O Making choices that harm the environment
U9 faded g1 S yafaR0r &) Jear Ugand o
(D) O Using resources without considering sustainability

fRRAT IR [9TR U 571 SH1eH] &1 SUTNRT ST

Question No. 8 / Question ID 559 Marks: 2.00
In your resume, which information has less importance?

3P FrAISTel H I W BRI HH Hed 39 872
(A) O Skill training completed
R U HIRI UFRIeor
(B) O Experience
3{JHd
(C) O AQualification
Il

(D) O Expected salary (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 679 Marks: 2.00
Which among the following is not an Online payment application?

FHfIRed & ¥ S F 91 T 3iFarsT 0 TiiheH T8l 872

(A) O BHIM UPI
BHIM UPI

(B) O Google Pay
[T Pay




(C) O Banking Applications
ClEall

(D) O Instagram (Correct Alternative) (Chosen Option)
S¥CTITH (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 784 Marks: 2.00
Which website has an ‘Idea Bank’? where you can find a list of multiple problems faced by the country
now?
fr JaTEE BT 'Idea Bank' 82 &1 31U <X & AHH A & GHWS &1 T U1 Javd 52"

(A) O Start-up India (Correct Alternative)
-39 §f&4T (Correct Alternative)
(B) O Google (Chosen Option)
[ITeT (Chosen Option)
(C) O Firefox
BRI
(D) O Yahoo
aig

Question No. 11 / Question ID 622 Marks: 2.00
"Gig" economy is
"Gig" SR §
(A) O Regular job
TIeR Sl
(B) O Foreign economy

(C) O Indian economy

(D) O A system of work where people work in part-time (Correct Alternative) (Chosen Option)

capkeal Udh s w8l @ q'l'c.F-E'IBTI ¥q H HTH Hd % (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 620 Marks: 2.00
is influenced by rapid change in technology

TNt & ot I Seard § g9ifdd 7
(A) O Nature of work (Chosen Option)

HTH P EI?[%[ (Chosen Option)
(B) O Working capital

(C) O Workforce
SR

(D) O Future of work (Correct Alternative)
CaRTIG L (Correct Alternative)

Question No. 13 / Question ID 761 Marks: 2.00
What should you do before making a choice at work?
HRIRA IR B [dhed g4 I U5 SMUD! RIT HAT dMgU?
(A) O Look at the details, listen to others' ideas and choose (Correct Alternative) (Chosen Option)

faazon =t a"@F-lT, §'\‘R3f & foaRi 31 g1 3R AT iIT%T{ (Correct Alternative) (Chosen
Option)
(B) O Take immediate decision

X fSRme o =fee




(C) O Don’t think too much
qgd S1al a1 AT 91fgy
(D) O Don’t discuss with others

TR o 1Y {Sd gl H31 A1fgy

Question No. 14 / Question ID 565 Marks: 2.00
Table, wire, socket, cable, hammer, nail - are
eTd, dR, Gidbe, had, gAIST, BId g
(A) O describing words
fSepRfa aga
(B) O action words
LENECRR]

(C) O pronouns
PIRIRE

(D) O naming words (Correct Alternative) (Chosen Option)
AfdT a%fﬂ (Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 783 Marks: 2.00
Working hard to achieve your goals and not giving up when you face failure is called
3T AT} B UTE B & ol Hot Agd HAT 3R SHAdT fHdd W R 7 qF=-1 FHEdrdl §
(A) O Grit (Correct Alternative)
fire (Correct Alternative)
(B) O Self-awareness
X SR bl
(C) O Self-belief (Chosen Option)
3T fayrg (Chosen Option)

(D) O Independent decision making
[CRERRITAE]

Question No. 16 / Question ID 584 Marks: 2.00
The conditions in a place that affect the behaviour and development of somebody or something is called

ngaﬁqﬁf@rﬁlﬁa‘r%w%m I & HA8R 3R [IHT BT THIfad Hell &,

(A) O locality

(B) O neighbourhood

(C) O environment (Correct Alternative)
(Correct Alternative)
(D) O facilities (Chosen Option)
Eﬁm (Chosen Option)

Question No. 17 / Question ID 700 Marks: 2.00
Which one is essentially required to receive communication by Email?
SHd GRT HRHBH A U HRA & g 1 ar] 0 ¥ 1 Sawae g2
(A) O Email account (Correct Alternative) (Chosen Option)
3[BT3C (Correct Alternative) (Chosen Option)
(B) O Desktop
Sl




(C) O Printer
fleR

(D) O Laptop
AYerg

Question No. 18 / Question ID 816 Marks: 2.00
When someone needs funding for a small business, what should they do to find a suitable investor?
o fhft @l BIC fovma & AT 49 &1 SMa=adwd gidl &, ) 3¢ U SUGad S-avex WioH & fad 1 dAl
Bl

(A) O Wait for the suitable investor

UG AR BT Tcitell BT AT
(B) O Send business plan to friends

FESICAREEERAGIER B G FY
(C) O Attend networking events to meet suitable investors. (Correct Alternative)
I 3-a%ed ¥ frem & fore Aeafdr sde o YRt &4 91T (Correct Alternative)

(D) © Send business plan to every investor online (Chosen Option)

"B 3O Dl oo WH 3FargT Yo A1fdY (Chosen Option)

Question No. 19 / Question ID 599 Marks: 2.00
While applying for a job, important information should mension in the covering letter is
& foTT 3M1de FRd T, HART dex T Agayul THSHRI HT I g1 A1gY

(A) O education details. (Chosen Option)

fRr&f1 &1 faaruT (Chosen Option)
(B) O salary expectations.

e UM
(C) O reasons of suitable for the role. (Correct Alternative)

YFUPT & T STYad BRI (Correct Alternative)
(D) O hobbies.

Question No. 20 / Question ID 758 Marks: 2.00
When we find a faster way to pack products at the factory, what we should do?
ore gH el H IdTGl B Uh B BT ol aRIepT [H7d ST, T g8 T AT A2
(A) O Pack products faster than our coworkers
TR PHITHR B g1 & STG! DI ol F U BT ANMeY
(B) O Share the faster packing method with our team (Correct Alternative) (Chosen Option)
3= 19 & 1y dg tfd faftr R s EITI%T{ (Correct Alternative) (Chosen Option)
(C) O Continue packing the way the team has been doing

Y o ae ¥ U I X1 7, I ae U Ul oIRT 3@ anfeq
(D) O Keep the method as secret

TYE DI Hidhe @ AT
Question No. 21 / Question ID 627 Marks: 2.00
Skill India Digital is
padfeafeed. = @
(A) O adigital Movie
Uh

(B) O a platform for learning and career resource (Correct Alternative) (Chosen Option)
3R HRWR AU & ﬁ‘l’G Udh Hd (Correct Alternative) (Chosen Option)




(C) O central govt. office
DG WDHR

(D) O name of a trade
¢ HTAM

Question No. 22 / Question ID 747 Marks: 2.00
In a team where members have different ideas and there is a disagreement, what should be done?

T ¢ T S5t IGw! o faaR STHT-31eRT i 3R 3 gHfd B, dl o fohal ST A1fgu?
(A) O Choose one idea without discussion
foT foet =t o e fqaR g+ a1feT
(B) O Letthem argue
3% 969 B GifvlT
(C) O Ask someone else to decide
forelt SR & fAofg O & fore e anfge
(D) O Discuss both ideas and find a way to make everyone agree (Correct Alternative) (Chosen
Option)
T faerY R 9=t #A1 3R Tft ) TeHd FRMA BT aiPT WieHT 91T (Correct

Alternative) (Chosen Option)

Question No. 23 / Question ID 767 Marks: 2.00
In an organisation, if all the workers are skilled and systematically working, the organisation will be

fopelt smATEoRE H, afe 91t HHaR! HA 3R HafYd T I HH $HR @ & Al TSR &l
(A) O Loss for the organisation
& forg &ffa

(B) O Less work gets done

DTH HH GRT
(C) O Confusion

PR
(D) O More output and more profit (Correct Alternative) (Chosen Option)

3w 3T3cYc 3R 3f¥re uifthe (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 614 Marks: 2.00
If coworkers are gossiping about another coworker what you should do?

i gepHi(PIah ) ford 3T TghH! & IR H TRIU HR IR & af MU T BT AMRT?

(A) O Tell another coworker about the gossip (Chosen Option)
fopdt 3 TgaHl ol TRIY & IR H §a1 IM8T (Chosen Option)

(B) O Listen to the gossip
TTRIT AT =T

(C) O Feel that gossiping is inappropriate workplace behaviour (Correct Alternative)
W BT A1y P TRT BT IR IR 3rfd qaER & (Correct Alternative)

(D) O Join the conversation and continue

HaYYH | WA T 3R STRT [T 1T

Question No. 25 / Question ID 674 Marks: 2.00
In an email, where will you add the recipient email address whom you want to send the copy of an email?

it SHA H 31U 3T UTehd! &1 sHd UdT Bl siiadl o 3 AT Bt Ul I Ted 872

(A)O To
To




(B) O Subject (Chosen Option)
Subject (Chosen Option)
(C) O Bcc
Bcc

(D) O CC (Correct Alternative)
CC (Correct Alternative)




